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1A4H 2 K H
a—R v H— BREF N a—RA v H— BREF N
ISR - D - E-BNE viN iR - D - E-BNE viN
iR - F - ol 2R ISR - F - o LR
iR - F - A KHE iR - F - AH KK
ISR - G - o e ISR - G - o
ISR - H - B FER BiAESR - H - B FEA
AiE# - J - FH U5 BiAESR - ] - I O5b
TR 45(43) A K — R 13:45 TR 45(43) A K — R 13:45
KA BN =8 VAN KA (BN =8 VAZAN
A=K7 4=y v a iR 8C / 6C AB—bF/T 4=y a R
F:
NEAT Ag=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 gt B 4 S 157 = 157 N | = 155 D N GV N
1 103 Kk A H BH&ESC 1:07.18 1:05.21 2:12.39
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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DATA PROCESSING by SE I KO
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AREBHS— 3 No. SAJ-25-SL-107/99
1A4H 2K H
a—R v H— BREF N a—RA v H— BREF N
ISR - D - E-BNE viN iR - D - E-BNE viN
ISR - F - ol 2R ISR - F - o LR
iR - F - L KK iR - F - AH KT
ISR - G - o e ISR - G - o
BiAESR - H - A B FEA BiAESR - H - B FEA
AiE#E - J - FH U5 BiAESR - ] - FEH UMD
TR 45(43) A K — R 13:45 TR 45(43) A K — R 14:45
KA BN =8 VAN KA (BN =8 VAZAN
A=K7 4=y v a iR 8C / 6C AHF—bF/T 4=y v a R
F:
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 gt B 4 S 157 = 157 N | = 155 D N GV N
1 104 B~ B AR DTN 51.87 51.69 1:43.56
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2013-01-12 / 72\ 5 A% —i SM8 /1

DATA PROCESSING by SE I KO TIMING by SET KO
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AREBS— 3 No. SAJ-25-SL-107/99
1A4H 2 K H
a—R v H— BREF N a—RA v H— BREF N
ISR - D - E-BNE viN iR - D - E-BNE viN
iR - F - ol 2R ISR - F - ol 2R
iR - F - L KT iR - F - AH KK
ISR - G - o e ISR - G - o
ISR - H - B FER BiAESR - H - B FEA
AiE# - J - FH U5 BiAESR - ] - FEH UMD
TR 45(43) A K — R 13:45 TR 45(43) A K — R 14:45
KA BN =8 VAN KA (BN =8 VAZAN
A=K7 4=y v a iR 8C / 6C AB—bF/T 4=y a R
F:
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 gt B 4 S 157 = 157 N | = 155 D N GV N
1 105 /NEE VB AL Yy pAKT =957 54.29 55.07  1:49.36
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2013-01-12 / 72\ 5 A% —i SM8 /1

DATA PROCESSING by SE I KO

TIMING by SET KO
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T 4= a s 652m
ks & d=bry =S fe o 154m
AREBS— 3 No. SAJ-25-SL-107/99
1A4H 2 K H
a—R v H— BREF N a—RA v H— BREF N
ISR - D - E-BNE viN iR - D - E-BNE viN
iR - F - ol 2R ISR - F - fam 2R
iR - F - L KT iR - F - AH KK
ISR - G - o e ISR - G - o
ISR - H - S S BiAESR - H - S S
AiE# - J - I O5b BiAESR - ] - I O5b
TR 45 (43) A K — R 13:45 TR 45(43) A K — R 13:45
KA BN =8 VAN KA (BN =8 VAZAN
A=K7 4=y v a iR 8C / 6C AB—bF/T 4=y a R
F:
NERE Ap=b =N EEHEE 1AKH 2AKH H F L—2A
No No K4 B 4 gt B 4 S 157 = 157 N | = 155 D N GV N
1 106 3012150 #pe E= Doing 6 47.42 48.12 1:35.54
DID NOT START [1st RUN] 2
107 EIRESFSIA AR DTN Y 4
108 3014272 HF ERfE A)TTTT
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2013-01-12 / 72\ 5 A% —if SM8 /1

DATA PROCESSING by SE I KO TIMING by SET KO
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1AH 2 A H
a—RA v H— BREr N a—R v H— BREr N
AiE#H - D - E-PN viN AiE#H - D - EBNE viN
AiE# - B - Fam 2R AiE# - B - Fam 2R
AiE#H - F - aH KA AiE#H - F - [ KA
ISR - G - o e ISR - G - o
AiE#H - H - K SR AiE#H - H - Kb SR
AiE# - J - I On5b ISR - ] - I On5b
TR 45 (43) 2 & — N 13:45 TR 45 (43) A K — N REE 14:45
KA BN =8 VAN KA EBN =8 VAZAN
AB—F/T7 4=y a KR 8C / 6C AF—bF/T 4=y a R
F:
JIEAE A%=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 o8 Fr B 4 S 157 N = 157 N | = 157 D N GV N
1 110 FA & ¥ A — |k 43.37 4331  1:26.68
2 112 AN = S 7T SR 53.90 55.90  1:49.80
3 111 AR FikE SEED 4902 1:.06.72 1:55.74
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 1
113 MW & A)OT T
DISQUALIFIED [1st RUN] 1
109 i OB NAIES C GATE No. 18
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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